23050 FFHEFL [ 4 5L 4 5

7= miiEA

M
4 1.0718,
T84 1.4305,

g
WE BEFCALE,
TN =,

B

MBI e I M L RIS RE, TEEMMLBRMH O REN
FH. MEMS4EY. ATEAEREERE , ToRIR3N M H IR
W EER o

REEXRUBNRERENRITBERN , I aEHsASERE.
B = & 4000 rpm,

BESTHE :
-40 °C - +175 °C,

REFEK :
HttR s

FrERRN B HAT | W

© norelem www.norelem.com



23050 FT & Z NI P BxHh 25

C
(DIN 912-12.9)

23050-1080 M3x8

23050-1100 M M4x12 4,6 10 29 45 32,7 70

23050-1120 EED M4x12 4,6 12 29 45 32,7 70

23050-1140 & M5x16 9,5 14 34 50 39,4 190
23050-1150 GED M5x16 9,5 15 34 50 39,4 190
23050-1160 Wl M5x16 9,5 16 34 50 39,4 190
23050-1190 M M6x18 16 19 42 65 48,2 300
23050-1200 EED M6x18 16 20 42 65 48,2 350
23050-1350 M M8x25 39 35 67 95 741 1100
23050-1250 GED M6x18 16 25 45 75 50,8 390
23050-1300 W M6x18 16 30 54 83 58,6 475
23050-1400 EE M8x25 39 40 77 108 83,4 1325
23050-1500 EED M10x25 77 50 85 124 93,2 2250

C
(DIN 912 A2-70)
23050-2080 BN M3x8 1,1 8 | 24 | 35 26,8 16
23050-2100 5N M4x12 2,5 10 | 29 | 45 32,7 70
23050-2120 TEHN M4x12 2,5 12 | 29 | 45 32,7 70
23050-2140 BN M5x16 54 14 | 34 | 50 39,4 160
23050-2150 5N M5x16 54 15 | 34 | 50 39,4 160
23050-2160 TER M5x16 54 16 | 34 | 50 39,4 160
23050-2190 BN M6x18 96 19 | 42 | 65 48,2 260
23050-2200 L] M6x18 9,6 20 | 42 | 65 48,2 300
23050-2250 L M6x18 9,6 25 | 45 | 75 50,8 325
23050-2300 5N M6x18 9,6 30 | 54 | 83 58,6 400
23050-2350 TR M8x25 23 35 | 67 | 95 74,1 330
23050-2400 5N M8x25 23 40 | 77 | 108 | 834 400
23050-2500 ez M10x25 46 50 | 85 | 124 | 932 688

© norelem www.norelem.com



